

$$3d = a_p - a_1 = 21 - 1 = 20 \Rightarrow d = \frac{20}{3} \Rightarrow a_n = \frac{20}{3}n + 1$$

۱

$$2 \cdot n = \frac{20}{3}n + 1 \Rightarrow n = \frac{3}{10} \Rightarrow n = 3 \quad \checkmark$$

1. 1.1, 1.2, 1.3, 1.4, 1.5, 1.6, 1.7, 1.8, ...

$d = 1$

$$a_n = \frac{1}{n} + 1$$

$$\frac{1}{n} + 1 \leq 999$$

$$\Rightarrow \frac{1}{n} \leq 998 \Rightarrow n \geq \frac{1}{998}$$

$$\Rightarrow 1 \leq n \leq 998$$

$$\Rightarrow 998 \text{ عدد}$$

$$a_{n+1} + a_{n-1} + a_{n-2} = -\frac{1}{n+1} + \frac{1}{n} = \frac{1}{n(n+1)} \Rightarrow a_1 + a_2 + a_3 = \frac{1}{1 \cdot 2} = \frac{1}{2} \Rightarrow 3d = -\frac{1}{2}$$

$$a_2 + a_3 + a_4 = \frac{1}{2 \cdot 3} = \frac{1}{6} \Rightarrow d = -\frac{1}{6} \Rightarrow a_1 = \frac{1}{2}$$

$$a_{17} + a_1 = \frac{1}{17} + \frac{1}{2} = \frac{19}{34} \Rightarrow 17d = \frac{19}{34} - \frac{1}{2} = -\frac{1}{34} \Rightarrow d = -\frac{1}{510}$$

$$\Rightarrow a_n = -\frac{1}{510}n + \frac{1}{2}$$

$$a_{p+1} = \frac{1}{p+1} = \frac{1}{p} + \frac{1}{p(p+1)} \Rightarrow \frac{1}{p+1} - \frac{1}{p} = \frac{1}{p(p+1)} \Rightarrow \frac{1}{p} - \frac{1}{p+1} = \frac{1}{p(p+1)} \Rightarrow \frac{1}{p} = \frac{2}{p+1} \Rightarrow p = p+1 \Rightarrow p = -1$$

$$a_n = \frac{1}{n+1} = \frac{1}{n} + \frac{1}{n(n+1)}$$

$$\Rightarrow \frac{1}{n} + \frac{1}{n} - \frac{1}{n+1} = \frac{1}{n(n+1)} \Rightarrow \frac{2}{n} - \frac{1}{n+1} = \frac{1}{n(n+1)} \Rightarrow \frac{2(n+1) - n}{n(n+1)} = \frac{1}{n(n+1)} \Rightarrow \frac{n+2}{n(n+1)} = \frac{1}{n(n+1)} \Rightarrow n+2 = 1 \Rightarrow n = -1$$

$$\Rightarrow a_p + a_1 + a_{p+1} = \frac{1}{p} + \frac{1}{1} + \frac{1}{p+1} = \frac{p^2 + 2p + 1}{p(p+1)} = \frac{(p+1)^2}{p(p+1)} = \frac{p+1}{p} = 1 + \frac{1}{p}$$

$$a_{12} - a_1 = 2d = \omega \Rightarrow d = \frac{\omega}{2} \quad d_{10} + d_{12} = 2\omega = \frac{\omega}{2} + \frac{\omega}{2} \Rightarrow \frac{\omega}{2} = -\frac{\omega}{2} \Rightarrow \omega = 0$$

$$\Rightarrow a_1 = -\frac{\omega}{2}$$

$$a_{p+1} = a_1 + 2d = -\frac{\omega}{2} + \omega = \frac{\omega}{2}$$

$$\checkmark$$

$$\frac{\omega(a_1 + a_\omega)}{r} = \omega(a_1 + v_d) = \frac{1}{\mu} \times \omega\left(\frac{a_1 + a_\omega}{1}\right) = \frac{1}{\mu} \times \omega(a_1 + v_d) \quad (y)$$

$$\Rightarrow \omega(a_1 + v_d) = \frac{1}{\mu} \times \omega(a_1 + v_d) \Rightarrow a_1 + v_d = \frac{1}{\mu} (a_1 + v_d) \times \mu, \quad \mu a_1 + \mu v_d = a_1 + v_d$$

$$\Rightarrow \mu a_1 = a_1 \Rightarrow \left(\frac{a_1}{a_1} - \frac{a_1 + d}{a_1} - \frac{v_d a_1}{a_1} = \mu \right) \quad \checkmark$$

[illegible]

$$t_1 = \frac{1}{\sqrt{\mu}}$$

$$t_1 = \frac{1}{\sqrt{\mu}}$$

$$t_{1/2} = \frac{1}{\sqrt{\mu}} = t_{1/2} \Rightarrow \frac{1}{\sqrt{\mu}} = \frac{1}{\sqrt{\mu}} \Rightarrow \sqrt{\mu} = \frac{1}{\sqrt{\mu}} \Rightarrow \mu = \frac{1}{\mu}$$

$t_1 = r$ $t_{n+1} = 1$ $t_{r_n - r} = rp$

$\frac{t_1 + \dots + t_{n+1}}{n+1}$ $\frac{t_{r_n - r} + \dots + t_p}{p-1}$

$d = \frac{t_{r_n - r} - t_1}{r_n - r + 1} = \frac{rp - r}{r_n - r + 1}$

$r_n - r + 1 = p$

$(r) \checkmark$

$$\begin{aligned} a_n + a_{n+p} &= a_p + a_n \Rightarrow n+n+p-p = \Rightarrow n = n \\ a_1 + a_n &= a_1 + a_p \Rightarrow p-d = p-a_1 \Rightarrow a_1 = -d \Rightarrow a_i = -d \\ \Rightarrow a_n &= a_1 + (n-1)(-a_1) \quad a_1 + (n-1)(-a_1) = 0 \Rightarrow n-1 = 1 \Rightarrow n = 2 \end{aligned}$$